Which canal irrigates Gurugram and
Faridabad djstrids of Haryana ?

(A) Gurugram Canal

(B) Bhiwaﬁ'i‘_ Canal

(©) Jawéhér Lal Canal

(D) Bhakra Canal

(E) Not ahcf:’mpted

The commdn difference of the Arithmetic

=1 1P 1-2P
Progresann 55 TR

, WP R P
A s -

1
B) 5 =

(C) 1 PN
(D) -1
(E) Not a'ﬂempted

is

If A’ means~+’ ‘B’ means “—, ‘C'means =
and ‘D’ means ‘)’, then the value of
18A12C6D2B5 is, i

(A) 45 5
(C) 17 J
(E) Not a{téﬂmpted

(B) 25
(D) 15

Which of the following is a joint venture
between ﬁéﬁan and France located in
Sonipat district of Haryana ?

(A) Ranbaxy

(B) Yakult Danone India Private Limited
(C) Glaxo Smith Kline

(D) Nestle India

(E) Not attempted

If sin°0 —c0s% = 0, then 6 is
(A) 90° . (B) 45°
'C) 30° (D) 0°
(E) Not attempted
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(B) -5

©) 1 iy

(D) ~13.5 o f 2%
(E) s g 412"

af o et 2, B o R,
‘CH Fdw R, D I KR, @l

18A12C6D2B5 &l U &
(A) 45 . (B) 25
(C) 17:. - (D) 15
(E) 3T
i . AT Rret 3 R frefafa
T @ =" IUE 3R BiE $ =9
Y STH @ ?
(A) Fet
(B) TFee SAH e wgae frfies
(C) Tﬁﬁ@ ERESIE i
(D) ¥ Efem
(E) 3Tvantta
a2 sin0— cos?0 =02, A 03
(A) 90°- (B) 45°
(C) 30° (D) 0°
(E) i



6. Consider the following statements abgy,
Constilulion of India.

i Anicle 48 enviSages Gtates to Provigg
free and compulsgry education.

i. The Parliament of |ndia brought
86"1 Constitutiong] Amendment Acy in
2006.

iii. Through 86" Congtitutional
aAmendment, Aricle 21A is insertaq
in the Constitution,

iv. Right to education is a fundamenty
right for children between 610 14 yearg
of age.

Which of the statements given above arg
correct ?

(A) Only i and ii

(B) Only iii and iv

(C) Only i, ii and iii

(D) All of the above

(E) Not attempted

7. The meaning of Phulkari is
(A) A large part of villages of Haryana
(B) An art of shawl making
(C) An art of making clay pots
(D) None of the above
(E) Not attempted

8. The sum of digits of a two-digit. numher
is 11, If the digits are reversed, then the
new number is 9 more than the original
number, What is the original number ?

(A) 54 (B) 68
(C) 45 (D) 56
(E) Not attempted
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(A) A | AT

(B) “<haIe iii 3 iy
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(D) 3TFa w4

(E) /3Tonfia
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(A) BfEmn 3 i w1 T a9l
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(C) 45 (D) 56
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What is the relationship between HO

and LCM of two numbers a andb?

(A) HCF+ LCM =a+b

(B) HCFXLGM=aXb
(C) HCFXLCM=a+b
one of the above

() N

(E) Not attempted

Whatisthename of the mirror-stUdded ring
womnon the right hand thumb by women in
Haryana ?

(A) Ponche (B) Aarsi
(C) Kangni (D) Anant

(E) Not attempted

Consider the following statements about
classification of climate.
1. The most widely used classification
of climate is the empirical climate
classification scheme developed by

V. Koeppen.

2. V. Koeppen identified a cloée
relationship between the distribution
of vegetation and climate. -

Which of the above statements is/are
correct ?

(A) Only 1

(B) Both 1and 2

(C) Only 2

(D) None of the above

(E) Not attempted

How many times President’s Rule Has
been imposed in Haryana ?

(A) One (B) Three:
(C) Two (D) None of these
(E) Not attempted

9.

10.

11.

12.

CE1G - 25

Q HEnst a st b gm0 ACATY,
% g o HAr 2 7

(A) 1.9.9. + @89, =a+b

(B) nuu. x&1.9.9. —axb

(C) n¥49. x&1 99, =a+b

(D) I | & ré

(E) 3tsrnfa

SreEr A wfeensii g gt 21 % s
H g I TR ol
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(C) =TI
(E) ST
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el W feEm * |

1. SICTATY 1 o 9% €9 H T
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¥ e ofrs gau 6 veam |
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(A) FaA 1

(B) 13 25t
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efEmm & frat R Tsgafa e @
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(C) <
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(B) =
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13.

14.

15.

16.

17.

I1f 6 men and'8 boys can doa piece of
work in 10 days ang o5 men and 48 pq,
can do the same woy jn 2 days, then the
time taken by 15 men and 20 boys to ¢,
the same work will bg

(A) 8 days B) 7 days

(C) 6day® (D) 4 days

(E) Not attempted

What is the average of first 40 Naturg,
numbers ?

(A) 40

(C) 20.5

(E) Not attempted

(B) 20
(D) 19.5

Who is popularly known as the ‘Swang
gamrat’ of Haryana 2

(A) Ali Baksh

(B) Pandit Lakhmi Chand

(C) Baje Bhagat

(D) Harish Kataria

(E) Not attempted

What are data chunks transmitted over
the Internet called ?

(A) Bytes
(C) Segments
(E) Not attempted

(B) Packets
(D) Frames

Nominal Gross Domestic Product (GDP) is

(A) Gross Domestic Product (GDP)
evaluated at per capita income

(B) Gross Domestic Product (GDP)
evaluated at constant market prices

(C) Gross Domestic Product (GDP)
evaluated at current market prices

(D) None of the above
(E) Not attempted

cE1G—2°
= B 10 T
a4gﬁ?za;3—m

5 <115 T
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13, 7% 6 T A g oy FFE
i B HBA 2 qopy o6 IO
& 2 fo § oy b
37T 20 T5h Iy o B
o A 7
(A) 8 fe
©) 6
(E) Frrmfim

14, S 40 SRR trmat 1 AEG
2 7
(A) 40
(C) 20.5
(E) Tt

15. méﬁmm‘%mﬁﬁ
AR 2 7

(A)g?ﬁa@r
(B) ufea ot =
(C) I I
(D) &l sherfen
(E) o

TT0E W TEIE 21 Heb i a1 hel
San 2 7
(A) =TEeH
(C) T
(E) ITRmida

17. TEE Hehel e IR (STEdL) 2
(A) Wia =afed A W HETehA {ohall T
EERRSERICEEIRRID
(B) TOR S9N el W Aot fha T
Tehet T 3, (S )
(C) TH SR oAl R e o
RIEER RIS TR AE R R
(D) ST H | T
(E) TR

(B) 20
(D) 19.5
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18.

19.

20.

21.

22,

vuv

The Sheetala Mata Fajr is organized in
which district of Haryang 2

(B) Jhajjar
(D) Gurugram

(A) Kamnal
(C) Ambala..
(E) Not attempted

A candidate who scores 209% of marks in
an exam fails by 30 marks, while another
candidate who scores 329, of the marks
gets 42 marks more than passing marks.
What is the total marks for the exam ?
(A) 600 (B) 400

(C) 500 (D) 300

(E) Not attempted

In the folIoWing letter series, some of the
letters are m!ssmg which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

_bca ca_ aba c_ca
(A) abbcc"r‘ (B) bbbcc
(C) baaba (D) abcbb
(E) Not attempted

Where is Maharana Pratap Horticulture
University Iocated in Haryana ?

(A) Karnal-."b (B) Jhajjar
(C) Sqniqut' ., (D) Sirsa

" (E) Notattempted

Which tier of Panchayati Raj is
responsible for rural development at the
district level jn Haryana ?

(A) Gram Sabha

(B) Panchayat Samiti

(C) Zila Parishag

(D) Gram Panchayat

(E) Not aftempteq

18, gheaon % o081 forer o oftaett AT e

19,

21.

22,

o S § 7

(A) T (B) =M
(C) e (D) TEIH
(E) aTantéd

fopeht e H uF Iofigan 20% ¥
F % 91 30 3iF B FAA A Y
Srafep gE IfigET S 32% 3 T Fiy
3 30 Il 3T G 42 ik A foew 3
Titeqr el Teha SieRt i B 7
(A) 600 (B) 400
(C) 500 (D) 300

(E) FToRmfEd
frefafad HeR SaEen § $© & q4 2
S 3HF < T ey & w9 A SH w1

fer mu 2 | 9 fawen 9w |
zbe@ cafabag c€.ca

(A) abbtc (B) bbbcc
(C) baaba (D) abcbb

(E) T ‘

IO | HERIO YaTd SRTeTt
fergaferamera el foa 2 7

(A) HTTA (B) FISSR

(C) @i (D) feream

(E) 3TRImted

gfemon § Rren T W A faemg & o
YERI TSl <Rl AT T STerEf @ 7
(A) T [T

(B) w=ITHa gffd

(C) Torem uftwe

(D) TTH U=

(E) 3Ty



it |

23.

24,

25.

26.

27.

when was the first General Election of
India held ?

(A) 1948 — 49

(B) 1956 — 57

(Cc) 1951 -152

(D) None of the above

(E) Not attempted

Badhkal Lake is located in which district
of Haryana ? |
(A) Panchkula (B) Fariqapad

(C) Kurukshetra (D) Hisar:

(E) Not attempted

lfa:b=5:7andb:c=8:9 then what
istheratioofa:c? <y

(A) 40:54

(C) 45:63

(E) Not attempted

(B) 4063
(D) 35 :54

What type of signal does Integréted
Services Digital Network (ISDN) use ?

(A) Analog

(B) Hybrid
(C) Digital {x
(D) None of the above

(E)

E) Not attempted

Which of the following famous battle was
fought in Sirsa district of Haryana ?
(A) Battle of Chormar |

(B) Second Anglo-Sikh war

(C) Battle of Gujarat

(D) Battle of Thanesar

24,

5.

26.

(E) Not attempted

23. Wﬂqﬁmmﬂqﬂﬁg

27.
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(A) 1948 - 49
(B) 1956 —57
(C) 1951 - 52

(D) S B 5ps

.

(A) TR
(C) B
(E) ITraTtea
‘qﬁa:b=5:73ﬂ'{b;c=8:9%,
a:vcEFr U 1 B 7

(A) 40:54 (B) 40:63
(C) 45:63 (D) 35:54
(E) STt

e R ffreet Seah (IS TEILE)
fpe TR ¥ foet 1 ST BTG 7
(A) T
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(E) STt
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29. The National Voters’ pay js observed On

30. Article 21 of Indian Constitttion states

31.

28.  Which of the following yac .0 hartner State
of International Gita Manotsay 2024 ?

(A) Rajasthan
(B) Uttar Pradesh
(C) Odisha

(D) Gujarat

(E) Not attempted

(A) 25" January

(B) 26" November
(C) 30" December
(D) 25" November

(E) Not attempted

that no person shall be deprived of his life
or personal liberty except
(A) By the President’s order

(B) According to the procedure
established by law

(C) By the Prime Minister’s consent
(D) None ofthe above

(E) Not atte'mpted

Ghaggar-Hakra river basin is classified in
two parts, where the higher area that is
not flooded in rainy season is called

(A) Banjar

(B) Kalar

(C) Bangar

(D) Khadar

(E) Not attempted

29,

30.

31.

wrdia GUH % =ae 21 F HE
3 fi forelt s =fFa 1 3w e 71
SfaTa T ¥ Sfed T8 R S,
e

(A) T & 3ew |

(B) I G T Nfham & STTEN
(C) gt < TgHla |
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2 et aut % wiew § aEd T g A
FeAT & BT e ST 8

(A) TR

(B) el

(C) IR

(D) @Y
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32. A rain travels at a'speed of X km/hr for

33.

34.

35.

2 hours, then decreases its speed by

10 km/hr and travels for another 3 hours,

If the total distance covered is 370 km,
then what is the initial speed of train ?

(A) 60 km/hr (B) 100 km/hr
(C) 90 km/hr (D) 80 km/hr

(E) Not attempted

Who among the following was the first
Indian-origin woman to travel to Space
and was born in Karnal, Haryana ?
(A) Kalpana Chawla

(B) Santosh Yadav

(C) Manushi Chhillar
(D) Sunita Williams

(E) Not attempted ‘

What is the significance of the ‘Peeliya’
Odhani in Haryana's customs ?

(A) Worn during hérvest festivals
(B) Given to a bride by her in-laws

(C) Sent by parents to their daughter
after the birth of a male child

(D) Worn during marriage ceremonies

(E) Not attempted'.

Which computer was built at Cambridge

University in 1946 ?

(A) PDP-8

(B) Electronic Delay Storage Automatic
Calculator (EDSAC)

(C) IBM 701

(D) Universal Automatic Calcylator
(UNIVAC) I

(E) Not attempted

33.

34.

35.

R % farsi § “difern’ Sedt PN

e 8 7

(A) FEE TS 3 AERl 6 G TE
ST &

(B) ToeT ! Ia TEUS ATl b G
fean s 2

(C) T A % S % dI¢ 5 i Ieh
AT o1 gy S S @

(D) ToraTe TURIET & <O UgAT ST &

(E) smmafd

1946 7 HBe fawafamer § Sim-ar
SR ST T AT 7

(A) PDP-8 :

(B) o ol Ritw sierafs
Fepeiet (EDSAC)

(C) IBM701 -~

(D) FHEET S g (UG

(E) R o )]
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36. Consider the fo"0Wing state

Ajanta caves: .
i. They.are locateq in the Aurand
district ©f Maharaghra.
ii. It hastWenty nine caves, built 0ve" &
period of almost eight centurles:
iii. Cave number 26 s very big a.n
entire interior ha|) is carved with
variety of Buddha images.
iv. The biggest one is Mahaparinibbana
image- ‘ :
Which of the statements given above is/are

correct?
(A) Onlyi and ii ’
(B) Onlyi

(C) Onlyiii and iv
(D) Allofthe above
(E) Not attempted

ments abOUt

abad

What does DSS stand for ?
(A) Direct Service Satellite
(B) Direct Satellite System
(C) Digital Satellite System
(D) Digital Satellite Service
(E) Not attempted

37.

O BB B
& £ |

T g

Select the word from the given 'éiternatives
which ga'ﬁpgf:'be formed by using the
letters of the following word. .
CONVERSATION
(A)’ REASON

(C) VERSION

(E) Not attempted

38.

(B) STATION
(D) NATION

39.  Tangririveris 3 tributary of which river 2
(A) Markanda s
(B) Ghaggar
(C) Ganga
(D) Yamuna
(E) Not attempteq

ol
©
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(A) e i 3 ji

(B) hdd i

(C) e iii 3T iy

(D) ST weft

(E) 3ot

37. < UE.TH. B s R 7
(A): SR wft deee
(B) SRR &demse faen
(C) Tsfreet deetee forem
(D) fefieet Qeemee iy
(E) 3rrRmfda

38. feumy fospedi @ 95 weg ghvw o
Freferen i % siedt &1 i w5
TS Hehell 2 |
CONVERSATION
(A) REASON
(C) VERSION
(E) 3Tyt

39. MU 7 fopg 7 I T wEws 1R !
(A) HIhUET

(B). TR

(C).Tm

(D)

(E)

(B) STATION
(D) NATION

D) ag
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40. Ap article is marked at ¥ 3,000 and is so|y
at a 40% discount. If the shopkeeperincurg

a 10% loss on the cost price, then whay
the original cost price of the article 7

was
(A) 22,250 (B) T2,100
(C) ¥ 1,800 (D) £ 2,000

(E) Not attempted

41. Which traditional jewelry piece wWorn by
Haryanvi brides consists of a.spherical-
shaped ornament attached to:a string of
gold ?

(A) Nath

(B) Koka

(C) Borla

(D) None of the above
(E) Not attempted

42. Match the following.
National Parks/
Wildlife Sanctuaries

a. Corbett National

}l{‘States

Park ‘ i. WészengaI
b. Sunderbans
National Park

c. Bandhavgarh
National Park iii. Rajasthan

d. Sariska Wildlife A
Sanctuaries iv. Madhya Pradesh

a b c d &
(A) iv [ iii i =
(B) i i iv i G
(C) iii i iv i
(D) iii iv ii i
(E) Not attempted

i. Uttarakhand

43. Where is Chokhi Dhani situated in

Haryana ?
(A) Kurukshetra  (B) Karnal
(C) Sonipat (D) Panipat

(E) Not attempted

cE1G - 25
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(E) RITEd

43. haon § =wE vl wg fRom R ¢

(A) Foar
(C) T
(E) TR

(B) v
(D) uwitug

A1-

' §

—



44,

45.

46.

47.

o
(o/5%)

In a certain €0de |angage, “in the €nd”
means “moh fik omg" “gnq is near means
“azh moh bod" and “in near future” Means
“omt azh €PY"- What will be the code for

“near” ?

(A) azh

(B) epy

(C) bod

(D) moh

(E) Not attempted
The value of (0:3)% is
(A) 0.0027

(B) 27

(C) 0.027

(D) 0.27

(E) Not aﬂempte_d

The Chalukyan style of architecture is the
unique synthesis‘of which of the following
styles of architecture ?

(A) Dravida and Nagara styles

(B) Nagara and Hoysala styles

(©) Dravida and Kalinga styles

(D) None of thé above

(E) Not attempted

Who among the following Haryanvi
singers was known for Ghazals in Hindi
cinema during the 1930s and 1940s ?

(A) Kishori Amonkar

(B) Lata Manggshkar
(9 NoorJaha;p

(D) Zohrabai Ampalewali
(

E) Not attempted

-12-
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48.

49.

50.

51.

Which figure given in the giternatives will
complete the pattern iy, the figure given in
question ?

35
<A)ﬁ

()

(B)

i
X

The sum of ages of A and B |s 72 If they

are in the ratio 23 : 13, then hnd the age
of B.

(A) 26 years (B) 46 years
(C) 24 years (D) 32years
(E) Not attempted
)
Which of the following is not' }a storage

(D)

(E) Not attempted

{ “‘ ';I

device ? T
(A) Monitor -y
(B) Solid-State Disk (SSD)
(C) Memory card

(D) Compact Disk (CD) b~
(E) Not attempted

["NUE.
§i e

Which of the following Pro;ect of Haryana
is inspired by Great Green Wall of Africa ?

(A) Haryana Forest Rehuig Project
(B) Chandigarh Green Bejt Project
(C) Aravali Green Wall PfOJ'e:’ét

(D) Shivalik Green Wall Prjgoy

(E) Not attempted
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(A) 2699 (B) 4694
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52. How many times i in a day, are the hands
ofa CIock in Stralght line but oppOSlte

direction
(A) 488 (B) 24 '~
(C) 20 (D) 22 |

(E) Notattempteq

53. Considerthe f0||0wing statements about
river water System of |ngia.

1. InDeccan Region, most of the Major

river systems flowing generally in the
east fall in to Bay of Berigal.

2. The river Cauvery in the southern
peninsula has the second largest
river basin covering 10 percent of the
area of the India.

Which of the above statements is/are
correct ? :
(A) 0n|y1

(B) Both 1and 2

(C) Only 2

(D) None of the above €3

(E) Not attempted rﬂ

54. WhICh of the following dlagrams
indicates the best relationship between
Quadrilateral, Rhombus, Polygons ?

5O O

(B)
(€)

(D)

Q@@g

\/
%8
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(A) 48 (B) 24

(C) 20 (D) 22
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(B) 1323
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55.

56.

57.

58.

The seasonal river Mg kanda originates
from which area of Haryana ?

(A) Yamunanagar Forggt
(B) Shivalik Hills

(C) Rajasthan Plateg,
(D) Aravali Hills

(E) Not attempted

Which of the following pair is not correctly
matched regarding the Cabinet of Akbar ?

(A) Khan-i-Saman — Home Minister

(B) Diwan-i-Ali — In-charge of
Charities

(C) Diwan — Revenue Minister

(D) Vakil — Chief Minister

(E) Not attempted

Choose the ﬁgure‘,f»r,o_m the given altemnatives
in which the following figure is embedded.

By

(A) " (B)

© ©)

&

(E) Not attempted

S

The signs of abscissa and ordinate

of a point in the second quadrant are
respectively

(A) (-, _)
C) (+ +)
(E) Not attempted

(B) (+,-)
(D) (- +)

-15-

56.

5
0516/2
AT
efeeron % o 0 ) i
foreperel ® 7
(A) T A
(B) foranfersn TaTfEai
() TTEATA 931
(D) e C IR FA O]
(E) Frni i
& - g g
(A) @ATHER - ’I’c"r’ﬁ
(B) daR-T-FR - m*qm
() : W"Tﬁ
RIS - H@f’ﬁ
(E) 3T

7.) Rew e freredt & o 3 A B A

i forei Brififian s o0 & ¢ |

]

(A) ~(B) [ﬁ
£

(C) ® (D)
(E) 3T

58. forim Jqis § wh ﬁ?ga; g
(A) (_’ —) (B) n
(C) (+, +) (D) t“ 3)
(E) Irornfard
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59. What does the Computer do with the input

received ?
(A) Itdeletes the g
(B) 1tsends the gatq 1o anothér omputer

(C) Itprocesses thg input and generates
output

(D) None of the above
(E) Not attempteq

60. Whatis the name of the woolen muffler worn

61.

~v

62,

around the neck by men in Ha r;"]ana 2
(A) Chaddar
(B) Kamari
(C) Mirjai
(D) Guliband
(E) Not attempted N

Complete the following analog)".tf}';

= :

A | N/
® |\

.

(B)

€

()

A
W
A
(E) Not attempted

Which of the foflowing cannot be'the
Probability of a5y event ?

(A) 4 (B) 4%

(C) 0.049 (D) 0.4

(E) Not attempted

59.

60.

61.

62.

N

CE1G\25

WW%WWWWW%?

(A)qgiﬂ’ﬁm% :

(o) &2/ 1 TR FRU

(C) %2 T N s e & A
St H 2

(o) T i B 5

(E)

g&mmﬁgﬁﬁgmﬂﬁﬁ%ﬁmaﬁ

Foft FRCTL 1 1 AW 2 7

(A)

(B). %A

(c) firets

(D) T

=t

(E),ajgﬂﬂ%lﬁ
ﬁmﬁiﬁgamwﬁﬁm

N HE

A 0

(A)

(B);

(©)

(D)

(E) sty

Fretfichem 4 @ w-4 fret s
TR 7 €1 werelt 7

(A) 4 (B) 4%

(C) 0.04% (D) 0.4

(E) 3Tty

| [l [5] [



63.

64.

65.

66.

Which instrument is uggq 1o measure the
wind velocity ?

(A) Odometer

(B) Anemometer

(C) Thermometer

(D) None of the above
(E) Not attempted

Which of the following is not true ?

2.6 2. 4
—_— s —= X —
A 3737375
o 2,5.5.2
()3443
o 2,5.5.2
()3443
2 & § 2
0 z-7=7-3%
3 4 4 3

(E) Not attempted

Select the correct alternative that indicates
the arrangement of the given words in
the order in which they appear in English
Dictionary.

1. Prestige

2. Pristine

3. Prescribe

4. Prepaid

5. Premium

(A) 4,5,3,1,2
(C) 5,4,3,1,2
(E) Not attempted

(B) 5,3,4,1,2
(D) 4,5,3,2, 1

Angles of a quadrilateral are jn the ratio
3:4:4:7. Find the smallest angle.

(A) 140° (B) 602
(C) 80° (D) 20°
(E) Not attempted

64.
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66.

CE1G - 25
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(B) T
(C) ZHI
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1. Prestige i

2. Prisﬁne \
3. Prescribe

4. Prepaid

5. Premium

(A) 4,5,3,1,2 (B) 5,3,4,1, 2
(C) 5,4,3,1,2 (D) 4,5,3, 2, 1
(E) Twanfira

Th SIS < BT I 31414 7
? | TR BT B @ KRy

(A) 140° (B) 60°

(C) 80° (D) 20°

(E) arenfé
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©
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67. Anand and Deepak started a business

68.

69.

70.

investing X 22 500 Ang 7 35,000
respectively. Oy of g total profit ©f
213,800, Deepak's share is

(A) 9,600 (B) 7,200

(C) 8,400 (D) ¥5/400

(E) Not attempted

Which of the following are the primary
components of g Computer system 2

(A) Central Processing Unlt (CPU)
Monitor, Software and CIOUd Storage

(B) Central Processing Unit (CPU),
Memory, Input/Outputdevices and
Storage devices T

(C) Operating System, Software,
Hardware and Internets,

(D) None of the above
(E) Not attempted

Select the correct sequence of mathematical
signs to replace the * symbol and make
the given equation correct.

Equation : 216 = 6 * 8 * 64:* 48 = 500
(A) x4, =+ (B) B %=

© x++— (D) n=x+

(E) Not attempted

Perfetti Van Melle India is‘located in
which district of Haryana ?

(A) Sonipat

(B) Ambala

(C) Gurugram

(D) Faridabad

(E) Not attempted

67.

68.

69.

70.

N

e AT AT 3 s % 22,500 3,
zgsooomfmmmmﬁm
113800¥$77m:rnm},m

oIt @11 7

CE1qg

(A) 79,600 (B) ¥ 7,200
(€) ? 8,4;30 (D) % 5,400
(E) AN

freferf@d 1 & - FHoger fom 5
grafieh T B 7
(A) aﬁ”" IZ[qu(IﬂIﬂZI) Tﬂ'f‘m

N ez Wi
(B)ﬁwﬁftﬁm{hz Fﬁ.‘ﬁ.’{.,q-q]m
%Engg.]
D) 3TF § & ié T
(E) o
Trﬁlaﬁﬂﬁla‘lw H9 g 1+ o
ﬁuﬁwﬁﬁmwaﬁﬂqu@m
g |
arﬁm 216 = 6 = 8 * 64 * 48 = 500
(A)X+ (B)—-+x_
(C) X:l-, g T (D) -y X,
(E) ST
st % fop Frdt B woRdt 3 i
ferds?
(A) g
(B) 3TETeT |
(C) Team™
(D) wiierEme
(E) 3ryfad
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71.

72.

73.

74.

75.

When was ASEAN (Agggciation of South
East Asian Nations) estapjished ?

(A) 1949 (B) 1985

(C) 1992 (D) 1967

(E) Not attempted

Which of the following equation
represents a straight ling ?

(A) X%+ y2 =25

(B) y= X° + 4

(C) 2x+3y=6

(D) None of the above
(E) Not attempted

Which number will come in the place of
question mark (?) in the following number
series ?7

3,5,9,7, 33,65
(A) 19 (B) 15 |-
(C) 17 (D) 13

(E) Not attempted

What is the rank of Haryana among
Indian States in terms of software export ?

(A) Fourth

(B) Third

(C) Second

(D) First

(E) Not attempted

In which year ‘Har Ghar Hariyali Yojana’
was launched in Haryana ?
(A) 2018

(B) 2016

(C) 2015

(D) 2017

(E) Not attempted
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71.

72.

73.

74,

75.

CE1G -2

qrferar (Eﬁm'{é"fm-qu@?ﬂm)
) 22 A B o |

(A) 1949 (B) 1985
(c) 1992 (D) 1967
(E) ST

Yo 1 gfafier a2
(A) E+Y =25 |
(B) y=x2+4

(C) 2x+3y=6

(D) 3T T # F1f

(E) ST

frafaltad wen Jeen i v fm (1) F
T W HH-H G et 7

3,5,9,7, 33,65
(A) 19

(C) 17

(E) ITuiEd
gigeaat fata & amer 4 i 1
YRS TS 0 F A2 7

(A) =it

(B) <&,

(C) g&q

(D) w&el

(E) Tw=tad

g § R W Bl Jeer fem ad
TE h TS off ?

(A) 2018

(B) 2016

(C) 2015

(D) 2017

(E) arorRnfErd
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English Lanquage

Give ON& Worq g ppitute forthe following | g1, choose the correct meaning Of the

expre-SSion, 4 following idiom or expression.
A period of tep, years. . To drive home

(#) C.a valry (B) Gentury (A) To.emphasise

(C) Ploneer (D) Decade (B) Toireturn to place of rest
(E) Notattempteq — (C) Back to original position

(D) To find one’s roots

Choose the correct f the
Ct antonym © (E) Not attempted

following word from the alternatives given

below it. Ly
Bl e Direction (Q. No. 82 and 83) : Fill in the blanks
(A) Fading (B) Flowering in the following paragraph by choosing the most
(C) Quite (D) Mild appropriate alternative from the alternatives

(E) Not attempted "=y given below:it.

The cave of Ajantaand Ellora _______ (82)

Choose the correct alternative to fill in the | the magnificent works of sculpture. Whoever

blank with appropriate active orpassive | goes there becomes spell bound. Thousands
verb forms. N (83) tourists visit these places every

t____ since yesterdéyf. ‘year. One can stay in the guest house.

(A) was raining 0

(B) have been raining 82. () Yiore (E) Yvas

(C) has been raining (C) ae (D) is

(D) is raining (E) Not attempted

(E) Not attempted 83. (A) at (8) from

Fillin the blank by choosing correct (C) Qf, ‘ (D) for

altern'ia;tive from the alternatives given (E) Not attempted

below.it. o

He ngé born _ 1945. 84. Chogse the correctly spelt word from the

(A for following alternatives.

(B)'}';t (A) permanent (B) permenent
(C) in (C) parmanent (D) permanant
(D) on (E) Not attempted
E
(€) Notattempted 85. Choose the correct synonym of the
Fill in the bjank with the correct f°"°Wlpg word from the alternatjves given
alternative. belowt
|___ for my pen. Have you seen it ? Ultlma?te
(A) am looking (B) looking (A) Victory (B) Famous
(C) look (D) will look (C) Final (D) Beginning
(E) Not attempted (E) Not attempted
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86. gy, 3L, TR, @, Ry ayfy v oha
Sy % A AW B 7
(a) f forTam
(B) F=TIHTE
(C) HeHETT
(D) FererrTieaIETss

87.

89.

90.

9.

92.

93.

-21-

CE1G - 25

et IE T AR I oy Ed © 7

‘YR F IR weh” 38 wArpifad 1 Fel
et & .

(A) TieEm A € 3r=s1 Be e 2 |
(B) TeIE 1 WHO I SRR T |
(C) =M HIs a9 & |

(D) i@Tgﬁa‘cﬁﬁw ST A 3D = |
(E) |STIRITRTA

I T AR TEd 1 ST T |
A1 TR A TR I S R 7
(A) BG-TGHg TSt

(B) 30T ST

(C) | YehicT

(D) 9ot YISt

(E) i

o
s




94.

95.

96.

o
(o]

PR s 3§ § ey o1 v
weg MU |

‘el T % W 37 i g |

(A) g T T T& arent

(B) WS R o gt 7 et
(C) TTE-=eH |

(D) Bl % 7id T

(E) SRR, |
e 34:11;&' wieg 2, Freferiad wreal
1 & T yreg 1 GAC |

(8) filiro

(B) e

(C) Fftr

(D) ey

() srye

97.

98.

99.

100.

S 8 E1 A1 T <Y PRI o 3
35 7 HEd F 7
(A) forgremT

() forer
(E):ﬂwﬁlﬁ
gl TESH S fiy oft g 37 W ey
R ¥ 1" 72 o5 arem 1 AR 7
(A) TIH T

B) Tafra re

(C) T =T

(D) ¥ | I3 &

(E) o=l

oo & 0 &7 @ wga oo vw B F
AT B 1 SLF, IH FT HEA B 7
(A) -GG T

(B) T ¥HTel (.0

(C) Wi vgehTeT

(D) 3ot BT

(E) Tt

S wh ForRI v R, soe
AT H1 &9 YT |

(A) T '

(B) 3Merefiu=
(C) et
(
(

(B) T ferdgoy

(D) TP

D) 3ty
E) Iyafem
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